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thnpn jwdw
34321300 ;jﬁndbpbbwbbph wwhbunwdwutp EEGunpwywl hurn 50 5448 272.40 <PU
34331300 wyunndtipbiwtiph wwhbuwnwdwubp Uugwinhs hwwn 20 14498 289.96 <PU
34331300 nﬁ“::z';fh““‘“b“h et TN T U 5 94085 a70.43| <FYU
34331300 7w51tmndbghhwhbnh wwhBunwdwubp Uywhnyhs = 100 99 9.90 Py
34331300 1lgﬁmndbgbt1whhph wwhbunwdwubp Uwwhnyhs hun 200 99 19.80 <PU
34331300 g&[mndhgbhwhbnh wwhGuwnwdwubp Uwwhnyhs hutn 100 99 9.90 <RU
34331300 wywnndbptlwibph wwhbunwdwutp bt 50 100 5.00 <pU
Uwwhndhs20U
wywindbpblwibinh wwhbuwnwdwubp <PU
30 h 100 5.00
el Uwwhnuh25U o >0
wywnndbpbuwibph wwhbunwdwubp <pU
h 5 1 5.00
34331300 Uwiwhndhs30U win 0 00
Cupdhy
34331300 wywnndtipblwubph wwhbunwdwubp Upnwddwl b 20 37595 751.90 <pU
tunnnywbiwown
34331300 Q‘t‘u‘{j‘;'l‘;bgbt’w“b“h twhbunwdutp fwehuanph 1 30 26991 809.73| <PV
winndbipblwutph wwhbunwdwubp Sulwsl <PU
34331300 h 120662 1,206.62
thubinh wpdwwnwlbwb Uinnhnh Undw; =t 0 06
34331300 Lultnd TSRl LB WL UHR Ewpsfish e 20 212042 44484 <PU
alwuh aifuhthdhownhn
34331300 Sk OB IR0 T T DT G dsigh I 15 55152 gies|l- FY
wnwwddwl UniEuwnnn
wyundbptuwubph Wwhbuwnwdwutn YnElnnph <PU
h 38 193.80
ge81300 wnnwdtwl_funnndwlh dhownhn it 8o M -




34351300 wyunndbipbuwutph wwhbunwdwubp Upunwddwu hu 100 105 110.50 <Py
Unilwnnh dhownhn
34331300 u‘;‘i‘as‘ﬁgm‘“‘“b“h tuihbunwdwutip Upunudiul m 20 40070 soi40| <PU
wyunndbipblwbbinh wwhBunwdwobn Cwindhsh <Py
34331300 h 20 3873 77.46
Ubnluh Ywihwphsh dhgwnhn .
34331300 wibknndBpEtwtibph wjwhbuuudubn Sundhsk hunn 40 10844 43376 <PU
wnolh pwpdhl
34331300 uidnnbpbluibeh wwhbunwiuutn Cundhih o 20 13801 276.02| <PV
Gunlih pwn&hly
34331300 widunnibpBUWLEh wwhbuunudiuubn Swndhsh hun 20 28039 560.78| <FU
thnlh Gwnawynphs
34331300 winndbpiLulinh uwhbuinwdwutin Bl 20 6511 13022 <PU
Sninpnlndwiptunph lunnnywly
wyunndbiptliwtbph wwhbunwdwutp <PU
34331300 h 20 4359 87.18
fgindnuinwinh nbwnhub thnnpuwl . >
wiinndbptlwblbinh wwhbuwnwdwutn <Py
4321 h 7 183.34
FaRI fgbpdnuinwinh htup o 2 3666
34331300 wdnndbpbLwbbnh wwhbuunwdiuutn Swndhsh gnh hun 100 8770 g77.00{ <PV
wndwh Lhnt?u . -
wywnndbipbiwubiph wwhbunwdwatn ®nly <RU
34331300 h 44 584.4
X onwithnfuhsh AV22+1085 o 100 2 0
34331300 wyunndtipbUwutinh wwhbunwdwubp enl hwwn 200 5687 1,137.40 <PU
34331300 winndbpblilinh wuhbunudun Gwdwbhdy [ 2 116982 233.96| <PV
wwnbbwwnnuh CNG
34331300 wyunndbipbuwutinh wwhbunwdwutip enly CNG hwwn - 70 8270 578.90 <RPU
34331300 wiinndbpblwlibiph wwhbuwnwdwubp Gwndhsh oph b 50 1440 72.00 <RU
wndwh dhownhp
34331300 ilndipbliubiinh wwhbuunuduwubn R wnduy hun 25 72752 1,818.80| <FU
[nhaby/
34331300 wdwnutipbbwtbiph wwhbunwswubp Mwnhwunnp hwwn 5 247987 1,239.94 SEU
34331300 d‘;‘tm"ubgb““’w”h whbunwdwutn 2nh wndugh = 50 6849 34245 <PU
wywnndtipbiiwtbinh wwhbuwnwdwubp 2ph dnhsh <pU
34331300 h 50 353 17.65
/wndwh/ Ywihwphsh dhotwnhn -
34331300 uwtﬂlnu:w::?wwl:bph Wwhbunwdwubp enlh dqdwu _ 30 27165 814.95 <RU
w
34331300 wywndtipblwttiph wwhbuwnwdwubp Cwndhsh b 100 138 13.80 <RU
pnguwidninh wwthonwly
34331300 wywnndbiptiwtibnh wwhbuwnwdwatn Cwndhsh Pt 10 1628 16.28 <RU
1w dwlwinnwlwswih
34331300 winnibpLwLEnh wwhbuwnudiuubn huwn 15 203111 439667 <PU
Snippnyndwpbunp
wiinndbipbwutiph wwhbuwnwdiwubp <njuwgdwl CPU
343313 h 797 439.85
%0 | hwwlwnch bntAv20°1560 - & 8 }
wyinndbptiwubph wwhbunwdwutn <njwgdwl <PU
343313 h 00 5472 547.20
331300 hulwbwnah Yuiné thaly AV20*1070 = 1
wywmdbpblwttiph wwhbunwdwubp <RU
34331300 h 1 758 7.58
58130 Cunwndwldwl Ubppuh Gwihwnhs —= °
winndtipbwubiph wwhbunwdwubp <Py
3433130 h 10 758 7.58
3900 ) cunuinsuwtidit puph ybnbh Wby o
34331300 wyindtiptiiwtbiph wwhbunwdwubp dwnbihph Ly 20 5811 116.22 AU
pwph thwhuwt
SGwquihtt gwndhsny wyluwnnn wdwnprwtiiph
wwhbunwiiwubp
34331300 wiunndbptiiwlbnh wwhbunwdwubn Snnh wndy | b 20 25739 51478 | <PU
34331300 winndbipbbwtibinh wwhbuwdwutn nh wnduy B, 30 76167 228501 <PY
34331300 rudinndtipGUwlinh wjwhtuunwdwutin husa 10 91436 91436 <FU
Onhlndwntiunp
34331300 winnubplLLUENh wwhbuunuduutn hunn 35 356738 1248583 <PU
Snippnbndwpbunn
wywnndbpbwutiph wwhbuwnwdwutn <RU
4331300 h 7 75.00
433 Ywnngph dndbip/ywidwidny/ = i >0
34331300 tdnndbpliulibnh wuwhbuinuduwub Cunnpruwn |~ 50 58341 2917.05| <PU
Jwnngph dndh hwidwn
34331300 wywnndbipbuwubiph wwhbunwdwubn Onhwnyhs huin 30 323742 9,712.26 <PU
34331300 widnndbpbulnh wwhbuwduutn Swah Wonh [~ 15 124225 1,863.38| <PV
uwhwihwlwl




34331300 hfn‘#mnaiiph“ww“h e e e huin 50 18001 900.05| <PV
34331300 &iﬂgﬁpwwb“h twhutACa RLBGRTONG 5 22494 n.47| <P
34331300 wywnndbipbuwubph wwhbunwdwubin Pwnap Wi 40 62665 2,506.60 <PU

Glodw Jwinttu

wywnndbpbuwubph wwhbunwdwubp UL, Gpluwn Py

1300 h .

3433130 Swinduh hbdnnwl MIO unn 100 1637 163.70
34331300 painn e LG N SR N il g e 10 265757 2657.57| <PY

bwnawdnpdwt thwbwl
34331300 wywnndbpbuwubiph wwhbuwnwdwubp Snippnih B 40 3078 123.12 <RPU

funnnywl
34331300 wywnndbipbuwlbiph wwhbunwdwutip Yné hwin 40 28792 1,151.68 <PU
34331300 wywndbpbuwubinh wwhbunwdwubn fuwnbwpwt hwwn 20 334013 6,680.26 A4
34331300 qu:imh:dhphhwanh wwhbunwdwutip Gwgh Guodwu b 15 32339 485.09 <RU
34331300 o L L e 2. 24431 sg8.62| FY

Jwlrpwnaby

Qpuubbyjuluht dEptuwbp, uwppwynpnidubp b

wnpbp’ pwgwnnipjuwdp hwdwywpghsubph,

wnhsttiph L Ywhnyph
30197622 pninp, A4 dnpdwwnh g 200 760 152.00 Uu

gnwubtjwluwipt ghpp, dwuywl, 70-200ty, ; uu
39263200 wnnuh, uwhwnwy tetipny S il e 2508
30192121 aphs qunhywynp hun 200 120 24.00 uu
30192121 aphs aunhbwdnp hwwn 600 90 54.00 uu
30192160 ouphtutiin Suphfugnphs hwn 144 250 36.00 Uu
30192160 onphtutp Swiphfuypdhuny huin 80 270 21.60 uu
30192710 unutidwdwwnhw, gpuublywlwiht hunn 60 280 16.80 uu
30197111 Ywphsh dbwnwnwiwpt Ywuwbtip, thnpp wnnuh 120 80 9.60 Uu
30197112 Yuwphsh dbwnwnuiwpb Ywwlip, dhopu untth 40 150 6.00 uu
30197231 pRrwWwwuwy, wnhdbpwht punwupe, dwy| hunn 20 1000 20.00 Ju
30199232 uwdwyh dpwn, A4 dlwswihh huin 100 50 5.00 uu
30199230 Uwdwyh dpwp, A5 dlwswihh hwn 200 15 3.00 uu
22451240 plutlubip Zunn 1000 5 5.00 uu
22451240 plutyubp Zwwn 1000 5 5.00 uu
30197120 Ynégwdubp wnnth 20 270 5.40 uu
30197230 pARWWWUWY Zwuun 40 900 36.00 uu
39241141 nwuwy' gpuublywlwht hun 20 130 2.60 Uu
39292510 pwlnt, wjwuwnhy huin 12 250 3.00 Ju
30197232 prRWWWUWY, wpwqwlwn, pnRejw Zuwn 200 80 16.00 uu
22851100 wpwagwlwnubp Zwwn 20 550 11.00 uu
30192780 Fowpwdwlhy Zwwn 20 600 12.00 uu
30197220 pneh wdpwltn huitn 100 120 12.00 uu
30192125 Uwnltp hwwn 60 250 15.00 yu
30192132 hﬂwuijn.:gm L a0 s e T R T M 20 150 300 YU
30192780 téwpwdthg hwun 30 270 8.10 Uu
30197331 nuwbhs ks hwwn 3 1400 4.20 uu
30197321 wphs, dhusk 20 phipeh hwdwp hwwn 50 950 47.50 uu
30197322 Ywphs, 20-50 phipph hwdwp hwwn 10 1600 16.00 uu
22811170 Lusniu phipphlubn upnuiutph hwdwp huwn 30 1100 33.00 uu
22811170 Yugniu phipehlutip upnwiubiph hwdwp hwwn 40 150 6.00 uu
30141200 hwodwuwnp, gpuubijwlwiht 2w 6 2400 14.40 uu
39263530 ubndwy, dks hwwn 20 960 19.20 uu
39263520 ubindwy, dhohu hwn 20 720 14.40 uu
39263510 ubndwl, thnpp hwwn 20 480 9.60 uu
30192133 uphsutip hwwn 10 70 0.70 uu
30192700 anbuwlwl whinnypubp Nhwnhu hwn 144 120 17.28 uu
30192131 defuwuhywlywy Ywd upynn dwnhuinubn hwtn 240 100 24.00 uu
30192210 wnihdbpwght hupuwlwsniu dwwwybu, 48ddx100d b 30 400 12.00 uu

nbwnbuwbwy, J6&
30192220 wnihdbpwiht hupbwluwsniu dwwwdbu, 19ddx364 hwn 48 100 4.80 uu

anwubliwbwihu, thnpn




30192020 wnihdtpwihu huptiwlwsniu dwwywyb, 1960x364 iy 48 80 3.84 uu
anwubibiiwlwiht. thnpn
22851200 prRWWWUW Ut huwn 20 800 16.00 Uu
30192114 Pwbwp, Yuhph pwpdhyh hwdwp huwnn 30 250 7.50 uu
30192131 dafuwlhywlwl Ywd updnn dwinhunubp hwwn 8 300 2.40 uu
44423650 ntunhub dwwwybuwrptitp huin 20 800 16.00 uu
22451240 plwulutin hwwn 100 20 2.00 uu
30192700 nbuwlwl whinyputn Yuhphpwnahl, Horse N2 i 20 450 900 YU
30199792 opwgnyghip hwn 10 600 6.00 uu
30199792 opuwgnyghp huwiwn 2 700 1.40 uu
22811150 Unpwwnbupbp hwwn 10 1400 14.00 uu
Uwppnn b thwyjkginn wpunwnpwup
39837000 Swuwyby hunn 60 1000 60.00 uu
39224331 nny| wjwundwub hwwn 4 1500 6.00 uu
39224332 nny|, ghuljwuwn huin 4 1500 6.00 uu
39221410 Uy hwwn 50 850 42.50 uu
39831280 wwwyh Jwppkint dhgng thwp 30 750 22.50 uu
39831240 dwpnnn Uniebip Uwppnndhong "Mwhuyw" g 80 200 16.00 Uu
39522330 dwppnn Yunpubp hwwn 80 150 12.00 uu
33711480 O6wn huwn 60 100 6.00 Uu
39522330 dwppnn Yunnpubp hun 80 550 44,00 uu
33761100 qnigupwh pnune hwn 300 100 30.00 uu
13641000 wnihkrhlBuwht wwpl, wnph hwdwp huwn - 60 300 18.00 uu
39831242 1wgph thnzh dtinpny |Ywlwint hwdwp g 10 1000 10.00 uu
39831281 wywyh dwppdwl jwp hwn 40 430 17.20 uu
39831210 uwwuph [Ywgdwu nbunbpgblnubn hwwn 10 1000 10.00 Ju
39831245 o6wn, hbnniy hup 20 600 12.00 uu
18421130 &binuingubip (nunbuwlw) qnyq 20 525 10.50 uu
39831245 ofwn, htnnly 1hwnp 3 1750 9125 uu
39811100 Onhpwpdwgnighsubp hwuwn 10 1000 10.00 uu
39831276 qniqupwutbinh dwppdwl Yjnietip \hwip 15 1000 15.00 yu
uu
39839200 gnquiphwl, wnpp hwywpbint hwdwp, hwuwpwy Mg . 0% By
Quqbp
24111180 fepywsdhu W 120 600 72.00 uu
24111190 wiluwpRRNL guq u’ 90 600 54.00 uu
ElEhupwlywbinipjwt pupfudwt b JEpwhuldwy
uwppwynpniukp
31211230 e e T hwin 10 1500 i5.00| YU
Ubiownhs wywnndwwn 16A
31211230 A e T B huwtn 10 1500 s.00| YU
Ubownhswywnndwin 25A
31211230 tnRn suupBR nilGgnn widunnduwin wtiguahsUbn huwin 10 2000 iy
[y Utowwnhs wdinndwin32A
Lnwwynpdwt uwppbp b bibnpwlwy wdwybp
31531300 wntiinbunn Jwdwbp Lwdw tynund 600w hwwn 15 4700 70.50 Uu
31531100 Flahunpwlwl jwdwtin hwtn 5 3500 17.50 Uu
31531100 ElEYunpwlwy jwdwbn hww 5 6000 30.00 uu
31531300 unbnbunn jwiwbp Lwdwbynund 40w hwwn 30 1100 33.00 uu
31531230 ElEYwnpwlwl wdw, 200W Lwdw 200w hwwn 20 200 4.00 uu
31531100 ElEyunpwlwl jwdwbn hwtn 10 3000 30.00 Uu
31531100 blEYyunpwlwl jwdwtp hwwn 30 2000 60.00 uu
31531210 ElEunpulwl jwiw, 100w hwn 40 100 4.00 uu
31531100 ElEhinpwlwt jwdwbp hwuw 15 700 10.50 Uu
Uwhnyp
39111180 Upnn'gpuubljwlwiht, dbnwniwlwplwuny hww 10 10000 100.00 uu
19241300 wwuwnwnwanpdwlw Gunnpubn J? 20 4000 80.00 uu
39221490 uwntugubin hwwn 10 4000 40.00 Uu
EiEYwnpwlwt uwppbp b uwppwynpnudubp
31684400 Jupnwly hwn 15 700 10.50 uu
31686000 fupng undnpwlwt hwin 15 500 7.50 uu
31711160 EiGywpnnubp lg 10 5000 50.00 uu
31211400 wlgwnhs-quinhs Ubgwinhswpuiwpht 1-in hwun 10 700 7.00 uu
31651400 dbynwhs dwwwdbuutip hwun 50 150 7.50 uu




gnpshputip

44511100 dbinph anpdhptibip Awh hwun 5 2500 12.50 uu

44511100 abinph gnpdhplbip Yuiph hwwn 4 5000 20.00 uu

42671150 Ut Upwlydu huunngUanh wdbn & huwn 10 2500 2500 YU
wwpwawlbp vwnwnwihthwuinnghbunnhs

39541130 (wpbp Ywwwpwlbpphjwn Ubkwnp 4 1700 6.80 uu

18421130 dbinungubip (pwuynpwlyuwt) qnyq 200 200 40.00 uu

14521171 hnUwpuwn hwin 10 2500 25.00 uu
quiwquit Jhtwpwpwlwi bynuyebnp

44192610 dblu ohtwpwpwywt PEnnbbdbtu g 100 50 5.00 vu

44531130 wnnunwbjwawd Tnipnuybibipinwnpbn hwwn 1000 10 10.00 Ju

44192610 _Jbju ohtwpwpwywy Ug 10 800 8.00 Uu
qulwqu Ynquybipubip b Juywutip

44521200 Ynnubiptbiph dwubp Hnwudhond hwwn 4 2500 10.00 Ju

44521200 Ynnubipubiph dwubip Hnwbpntwly hun 4 3000 12.00 uu

44521170 _Ynnuibipubip Ynnuibpwunyh hwtn 5 3000 15.00 uu

44521200 Ynnubiptibinh dwubp Twpwgnndauwthqu hwwn 3 2500 7.50 uu
popuijhti htnwlunutitip

32551160 hEnwiunuwhtt uwpptin hwwn 2 15000 30.00 uu
Cwdwlwpqswht uwppwynpmdubp U uynyebp

30237411 dyupl, hwiwyuwpgewiht, jwpny hwun 4 3000 12.00 uu

30211220 ubnwh hwdwlwpghsubn Cwwn %) 250000 750.00 Uu

30237460 hwidwyuipgswihu unbnuwowntn hwwn 4 6000 24.00 uu

30232110 Jwabipwihl twhsubip hwwn 1 93000 93.00 ud

31687000 hnuwtph Gwpguwunnphs hwwn 4 18000 72.00 uu
equgnpdwlwl wpunwnpwip

33600000 Ruwilwquit nbnnpwip npwy 2 80000 160.00 Uu
Swnwjnipiniutibip

98351110 Jipblulbnh Yuiwwintnhlnh how uwupdws hwtn 5 12000 60.00 YU
Swnwinipiniiutip

65110000 oph pwotunid npwy 1 2700000 2,700.00 Uu

64211100 huwtipwjpt hbnwiunuwhu Sdwnwinianiutibp npwy 1 624000 624.00 uu

64211130 Poguwihl htnwhunultiph Swnuwyniyniiubin npwd 1 600000 600.00 Uu

65300000 | Latunwllinuopul pusfuduwl L faw hn Guidws nnwd ! 15500000 15500.00| YU
Swnwinpniuibp
2undhsubipny. thnfuwnnwihgngtinh pwhwgnpdnuihg T
wuwunwnws Juwuh htinbwbpny wnwowgwsd

66511300 Wb wuwhnwendal npwd 1 21000000 21,000.00
Swnwynupyniuip

71631120 il dpBUbbinh nERUPGWLLL vnniglul nnwd ! 2730000 2730.00f ¥
Swinwinipiniutbn

72400000 hwdwgwugwihu Swnwjnysintutitip npwy 1 802000 802.00 Uu

48441300 Cuzdwnquhulul hudulungsuhb Spugnuht nnwd 1 170000 17000 YU
thwpbiplbin

50311240 Nuinéblwhwlnn uwnpbinh Jepuwliningiwt A : 336000 33600 YU
Swnwinipintu

90511150 Unph thnfuwnpdwb Swnwynye)ni npwd 1 1671000 1,671.00 uu

79221300 dwipuwyht dhgunpnp (ppnptin) Swnwiynipiniubip npwd 1 780000 780.00 Ju

79810000 Swwapwlwldwnwnipejniuttp nnwy 1 500000 500.00 uu

92410000 fotnpanh U wiuwigntph pudwlnnnuendut o 1 242400 40| YU
Swnuwinueiniu

70220000 s Puwlbih wlawnd gnuph quinduwluinieul ud nnwd i 4299996 430000 %<
1hahligh Swnwineiniiubin

90921300 wnblbinbbinh nbd wwipwph Swnwinuajniliibp npwd 1 360000 360.00 uu
I'_‘hpwggwjhbdwubphhnnnqdwhwz[uwmwhphhp
thnfuwnpwdhongUbnh wnwushu Jwubphl wnbgnn qc

50111330 Wwhwywudwt b Jepwunpngdwl Swnwjniejniiubip hwwn 50 7000 350.00
(hwnhwinnnh Unpnanid
tpnfuwnpuidhengutiph wnwldht dwubpht wnusynn, qc

50111330 wwhywudwl b Yspwunpngwt Swnwjniegniiubn hwwn 30 25000 750.00
2nhwnudwh Unnnanid CNG
ipnfuwnpwidhgngbiinh wnwldht dwubpht wnbsdnn, Ve

50111330 wwhwwudwy b Ybpwunpngiwl Swnwjnipjniutibin hwun 20 10000 200.00

2nh wndwh unnnanid nnanw




50111330

thnfuwnpwdhongubiph wnwudht dwuGpnt was o=

wwhuwwudwl b JEpwunpnguiwt dwnwjniemllsr
2nh wndwh Unpnanwd nhabi

50111320

uinwpwnbipubph Yepwiunpngiwt b wwhywldwy

dwnwjnipjniittin Snpdwnlhsh Yuwthwphsh npoagnd |

Q<

50111330

infuwnpwdhengutinh wWnwuhy dwubnhl walisnn |

wwhwwudwl b Jepwunpngdwl Swnwjnieniuubp
Ldwlwiht thnfuwtgdwu unpngnu

100

4200

420.00

q<

50111330

thnfuwnpwdhongubinh wnwudht Jwubiphl wnlgynn
wwhuwwldwy b JEpwunpngdwl dwnwjnipjniuubn
Yhabijwh Upwndhsh hudtliinnph Unpnanud

hwwn

50

78375

3,918.75

Q<

50111330

thnfuwnpwdheongubiph wnwudhu dwubiphtu wnusynn
Wwhwwudw U apwunprgdwl dwnwjnipjniubbn
Utluwnlhsh fuwnhufup unpngnud

hwwn

4000

40.00

a<

50111330

thnfuwnpwdhgngubiph wnwtdht dwubiphl wnugynn
wwhwwudwu b yepwiunpngdwl dwnwjnipniulbip
Ywjniwwpwnh futdnpwyh unpngnu

hwun

80

8000

640.00

q<

50111330

thnfuwnpwidhengltiph wnwudht dwubpht wnsynn
wwhwwudwl U Ybpwbnpngduit Swnwjnuygniup
bgnpndwt dbuwuhguh ubning ujwywnwih

Lnnnanul

hwwn

40

72000

2,880.00

qc

50111330

(hnfuwnpudhongUEnh wnwbdht dwubpht wnlsynn
wwhwwudwl b yapwunpngdwl dwnwjnieniuitn
Ygnpndwu dbfuwuhquih nwpynn ufuywnwy

hiuinnnanuf

hwin

50

30000

1,500.00

Q<

50111330

thnfuwnpwdhengubph wnwldht dwubipht wnbsynn
wwhwwudw U Jepwunpngdwt dwnwjnigjniubip
Gunluh wpgbwywiht fugh unpngnud

hwn

40

9000

360.00

Q<

50111330

thnfuwnpwidhongbinh winwudhu dwubiphtu wnusynn
wwhwwudwl b yepwunpngduwl dwnwjnieniuiip
Unglh wpgblwlwiht fugh Unpngnwd

nnwd

20

8000

160.00

Q<

50111330

thnfuwnpwdhengubiph wnwudht dwubphl wngdnn
wwhwwudwl b Ybpwunpngdwl dwnwjnigniulbp
AbLwjht [wjlwlywl dGquuh futdnpuwly

hwn

20

8000

160.00

qc

50111330

(infuwnpwdhengUbinh wnwudhu dwubipht wnugynn
wwhwwudwl b yspwunpngdwl dwnwjniejnduitin
2uwwlih hEuwuh bnnnanud

npwd

50

24000

1,200.00

Q<

MUR 32054  dwluhoh wywnnpnutbph hwdwp
uwhiwwnbugwd wwhbuwmwdwubnph guuy

Cuwpdhy

34311140

owndhguibinh dwubip Swpdhsh pny

hwwn

240,000

960.00

<RU

34311140

qwndhgubiph dwubip Suiutiph giiuhy
Lwthnunubnnd

hwuwn

150,000

450.00

<RU

34311140

pwndhstbiph dwulin Sulwal jhubin

hwun

170,000

510.00

<PU

34311140

2Wndhsubnh dwutin Ufung,

swndwil, Ufungwonkn,quu

ubpnhputip wpdwunwlwu b 2wpdwpluwhu
Nyndwy-4dtung, 4pwndwrel, 4dfunguwen, 4glwu,

1unidinnbunt 18andibinuhh bhnnhn!

hwtn

191,000

573.00

<RU

34311140

pwindhsubinh duiubin Uhgwinhpltinh Ynduy

hwwn

5,000

20.00

<RU

34311140

owndhsubiph dwubin Sninh wndw

hwwn

10,000

40.00

<{PU

34311140

owndhsubinh dwubin Kwnnpnwl U puwipfuhy

hwwn

28,000

112.00

<xY

34311140

owpdhsubiph dwubp 2ph nwnhwinnp

hwun

95,000

475.00

<RPU

34311140

owndhsutiph Jwubp Ynduptiunp

hwwn

[S,] RS, 4 - IR I8

40,000

200.00

<{RU

$nuwugnifubiph wnuh

34331300

wywnndbpbtwutiph wwhbunwdwubin Gnwdwuh

-
/TpaliHnK/

hwun

50,000

200.00

<RU

34331300

wywnndbpblwtbph wwhGuwnwdwubp 1-hu
thntuwbgdwl wunwduwuhd

hwwn

17,000

85.00

<RU

34331300

wdundGpElwlbnh wwhbunwdwutip 2-pn,3-pn
thnfuwtgdw winwdbwlhy

1undwi-2hwin

hwn

26,000

104.00

<RU




a wywnndbpuwubph wwhbunwdwubp Unwigpwyw <ZPU
331300 Yndwy 4 5,000 20.00
1Unifw-4huin hwin
fduwhph upwhh Jkpwunpngnud
44112170 thuniinud Cwwnwyh dwdly /jhunihnw/ dkwnp g 20 9,000 180.00 uu
hinfuwnpwdponglbiph wnwbdht dwubphb wnusynn
wwhwwudwl b yEpwunpngdwl dwnwjnyegjniuutbin
L T nnwy 3 20,000 60.00 <
50111330 tuhinnn -230wnunnbn
44118300 rhrbn' Ubnwnwlwu fFhrbn 0.504 huwn g’ 10 15,000 150.00 uu
44161240 pwytuhs unnnywlubp dtinp 2 20,000 40.00 uu
24211140 ubiplwnuebin ubipy dEpbuwih Ua 10 7,000 70.00 uu
44111417 twhuwutpy Ya 4 3,700 14.80 uu
Lunwdbup 1,237,315.82




